
Natality 2-19

TABLE 2-10.
Unmarried Mothers by Age of Mother and County of Residence,

Oregon Births, 2000

County of
Residence

Total <15 15-19 20-24 25-29 30-34 35-39 40-44 45+ N.S.

Total                     13,778 64 3,880 5,222 2,566 1,289 607 136 12 2

Baker                   49 – 17 14 12 3 3 – – –
Benton                 146 – 35 55 26 15 12 3 – –
Clackamas           1,028 7 272 391 191 99 52 15 – 1
Clatsop                143 – 48 53 21 13 4 4 – –
Columbia             143 – 43 62 21 10 7 – – –
Coos                    218 – 74 87 31 14 11 1 – –

Crook                   59 – 22 26 9 1 1 – – –
Curry                    54 – 20 19 6 3 2 4 – –
Deschutes            373 – 92 152 66 37 25 1 – –
Douglas               391 2 144 147 57 23 11 7 – –
Gilliam                  6 – 1 1 – 1 1 2 – –
Grant                    15 – 3 6 3 3 – – – –

Harney                 29 – 12 10 5 1 – 1 – –
Hood River           80 – 19 37 12 7 3 2 – –
Jackson               653 3 193 253 122 41 34 7 – –
Jefferson              141 3 44 53 20 13 6 2 – –
Josephine            286 1 86 95 54 34 14 1 1 –
Klamath               320 2 98 124 51 27 13 5 – –

Lake                     23 1 7 7 4 4 – – – –
Lane                     1,246 2 353 503 228 108 41 9 2 –
Lincoln                 194 – 60 81 33 14 4 2 – –
Linn                      405 – 139 140 77 35 12 2 – –
Malheur                180 2 58 63 38 12 7 – – –
Marion                  1,597 9 473 584 300 155 60 14 2 –

Morrow                 55 – 19 23 8 3 1 1 – –
Multnomah           3,036 14 749 1,142 609 342 151 25 3 1
Polk                      216 2 73 80 29 18 10 3 1 –
Sherman              4 – 1 1 1 – – 1 – –
Tillamook             77 1 14 33 18 9 2 – – –
Umatilla                415 4 121 149 79 40 19 3 – –

Union                   106 1 36 43 19 5 2 – – –
Wallowa               13 – 6 3 2 2 – – – –
Wasco                  106 1 42 44 13 5 1 – – –
Washington          1,637 7 409 614 343 157 84 20 3 –
Wheeler               2 – – 1 – 1 – – – –
Yamhill                 332 2 97 126 58 34 14 1 – –

– Quantity is zero


